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Introduction

* A test sample of 2016P09 MC with corrected PMM was produced:
/eos/user/a/agridin/MC2016/2016P09_mu+_PMM/mDST/

e Selection criteria (the UserEvent from Jan Matousek) was used:
— the best primary vertex in the target,
— physics triggers (LT | MT | OT | LAST),
— scattered muon found (iIMuPrim(false,true,true,false,15)),
— 0° > 1 (GeVlc)?
— all tracks from the PV with y*/ndf > 5

e | also put pseudokffs for the planes where problems were
observed by Jan
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Most planes have very good agreement.
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A problem with non-rectengular shapes was fixed.

0

2

4

RD/MC ratio

6

8

4

-2

0

2

4

6

8

10
X, cm



- MAO1X1

‘€200 ‘€200
S S
> >
150 150
100 100
50 50
0 0
~50 ~50
~100 -100
~150 -150
~200 -200

: toop phumigpa -
1601 - ir ’
C 140
1401 -
- 120H
120f -
C 100H
1004 -
- 80:-
8ot I
- 60f
60f} il
wf} 40 ir — . - RD_P09_slot5.1_p*
201 20t —— MC_P09_i*
0:||||||||||||||||||||||h__|_ 0_|||||||||||||||||||||||||||||||||||||||| _200
200 100 0 100 200 200 -150 -100 -50 0 50 100 150 200
X (cm) Y (cm)

10



RD MAO1Y1 MG

—_ —_ — 1
§200 5200
> >  F 0.9
150 1501~
- 0.8
100 100
- 0.7
50 50— 06
0 o 0.5
50 ~50 = 0.4
-100 —100— 03
- 0.2
-150 =150
- 0.1
-200 —200
[T [ I N I [ N O I | _IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII 0
-200 -150 -100 -50 0 50 100 150 200 -200 -150 -100 -50 0 50 100 150 200
X (cm) X (cm)
RD/MC ratio
160 - So00f-
- 160 o F
1407 - 150
- 140
120 - 100
- 120
100H - 50
. 100
80/t Wil p o - ' ) i_ ] 0
IBELERLIAE A 11 ) 80H Al - TR
Lttt o SN S LS AL
At : 1 || =
{][-_q-.. 60 1ot
| C - f-H-'h.t
oF - | : -100
H 4ot 1
i i — = RD_P09_slot5.1_p* 150
200y 201t
AT N T T P N H | | L e -200
0™ 2200 —150 —100 50 0 50 100 150 200 07200 150 -100 50 0 50 100 150 _ 200 200 -150 -100 -50 O 50 100 150 200
X (cm) Y (cm) X, cm

Low pseudoEfficiency in the data y



MAO2X4

o
o
)

o
o
8

100

-100

-200

X (cm)

200

100

-100

-200

RD/MC ratio

150

-150

_ _ur

— - = RD_P09_slot5.1

_u

MC_P09

ZOjT

100

-100

-200

150 200
Y (cm)

100

50

-150 -100 -50

0—200

X (cm)

200

100

-100

-200

12



MAO2Y2

5200
150
100

50

-200 -150 -100 -50 0 50 100

140

120

100

T [ T T T T 1T T T 17 T T 1T
— T ™y

80

T
+—

60
40

20

(

111 | 1111 | 1111 | 1111 | 1111 | 1111 | 1111 | 1111 | 1111 | 111
0 -200 -150 -100 -50 O 50 100 150 200
X (cm)

T T [ T 1T T T T 11
T

150

140

120

100

80

60

40

20

200
X (cm)

-200 -150

t

al

il — = RD_P09_slot5.1_p* .

B h,

| !

= —— MC_P09_pu* )

I A AT AT AT A A AN ATAN A A ANATAN N ANANAN AN AATAN AT AT

-200 -150 -100 -50 0 50 100 150 200
Y (cm)

13

-100

5200
>
150

100

-50 0 50 100 150 200
X (cm)
RD/MC ratio

50f=

FHTrrrryrrrrrrrr [ rTrT T T[T T T T [T T T [T T T T [T T 1T

-200 -150 -100

-50 0 50 100 150 200

X, cm



MBO

2X2

51 00 LEJJ 00
> - >~
50 L ks 50
B I;!-;: B
- e = ! ]
0 il 0
-50 -50
-100 ~100 e e
1 1 |-|- ] ] 11 P i L ||| ] 0
-200 -150 -100 -50 0 50 100 200 250 -200 -150 -100 -50 0 50 100 150 200 250
X (cm) X (cm)
RD/MC ratio
C E F
160— J | 140 i >.100_
140:— :,[‘l-' ol 120] i
120F - S0F
i 100}~ i
100 i i
- 80 0
801 L
- 60 .
60| B i
- - o . -50
40_ 40_ —_ RD_P09_slot5.1_p B
20: | 2oL — MC_P09_p* -

- [ i 100 :
VI|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII| 0 | 1 1 | 1 1 1 1 | 1 1 1 | | _IIIIIIIIIIIIII ) S S N 5 A A s I | | N T e I
200 -150 -100 -50 0 50 100 150 200 250 -100 -50 0 50 100 200 -150 -100 -50 0 50 100 150 200 250

X (cm) Y (cm) X, cm

14



- MB02Y?2

‘€100
S
>_

Y (cm)
o
o
|

50— 50— -
- ':;_ B 1 .
0_'- pmn o2 - e 0_ - _. .
2 -
— .‘ . :E -__- -- — N ;- --' 1-
: LI} -—q:::.;.__. 1 : - -'.j:,.'
2 =i Gl
—501— -50— '

- 355 Y e =k : SR L0

- s 1..;’ : T - - _.__:__:.__ T H

_100ﬁ| 10 |:|.|.|.|l.|| | = i 1 B e e : _100ﬁ| [0 |.| 111 IT.I:?:F'F. 1 ||

-200 -150 -100 -50 -200 -150 -100 -50 0 50 100

160
140 £100

>

140 120

120

LI L L

50
100

100

80

T T T T
—

80

T
-—

60
60

40

— - = RD_P09_slot5.1_p*

: 'L

20 [ 20

T
J e | T T T T T T 1
—

—— MC_P09_p* |

0__II|IIII|IIII|IIII|IIII|IIIIlllllllllllllllllllllh 0 _100_II|IIIIIII III
-200 -150 -100 -50 O 50 100 150 200 250 -100 -50 0 50 100 -200 -150 -100 -50
X (cm) Y (cm)

15



180

160

140

120

100

80

60

40

20

o

PA04U1

£ 60
s
>

40

20

LE

-80 60 40 -20 0 20

40

60

80
X (cm)

140

120

T T [ 1T T

100

80

60

40
— - = RD_P09_slot5.1_p*

20

[ T 1 T [ T 1T T 1T T 1T T T 1T 11
— T y T

—— MC_P09_p*

cm

o
& i
o

-40 -20 0 20

16

60

40

20

RD/MC ratio




180

160

140

120

100

80

60

40

20

l-:ll" :l_—#l:.;-::_l-l':l.ﬁ :-.

(&
¥t

-80 60 -40 -20 0 20

40

60 80
X (cm)

160

140

120

I N A

100

80

60

40

20

r T T 1T T T T 1T 1T T 1 T 1T
— T T T

— . - RD_P09_slot5.1_p*

—— MC_P09_p*

-40 -20 0 20 40 60

17

20




160

140

120

100

80

60

40

20

PSO1Y1

-80 -60 -40

_60I_I|III|III|III|III|III|III|III|III|II

-80 -60 -40 -20 0 20 40 60 80
X (em)
RD/MC ratio

-80 -60 -40 -20

— = RD_P09_slot5.1_p* I

—— MC_P09_p*
I|III|III|III|IIJ_| _60I_I|III|III|III|III|III|III|III|III|II
-60 -20 0 20 40 60 -80 -60 -40 -20 0 20 40
Y (cm)

18



RD GM11X1-Y1

60

RD/MC ratio

140

140

- 120
120LF I
i 10011
1001 -
] 80|
ol i
60 60T
- a0l +
a0l -
i - —. = RD_P09_slot5.1_p*
20 20
?T jL — MC_P09_u*
0 L | I I | | L1 11 | | I | | | I I | | L1 11 | | I I | | 1 0 | L1 11 | | I I | | L1 11 | L1 11 | | I I | | L1 11 | o ; P i
40 45 50 55 60 65 70 15 10 5 0 5 10 15 40 45 50 55 60 65 70
X (cm) Y (cm) X, cm

19



GPO3P1-U1-V1 MG

X
O

£ - £ -
S 6 AR, S 6
— L — -
>- | an " e -\.-l.ﬂ_-ﬁ__. 0'9 >- | cmm 0.9
B BT - ha -
- B - Sl L e
4— o L T P 0.8 4— = e L 0.8
-0 n= ey =
B L r e g e B R
— - - - - -
B R e L I N I N
- LT = - Ol - - o - - =" . -
2_ .:-"F'-'_'I . 1-:' s _é":.- A .-__i: ;—_-q-'- -.:l_ 07 2_ 0 e T --_ - gl L - _'--'.-: - 07
N . - = FL e e , - E -
- o e TR [ ARe iy AeDE b iE L - - . RS PR N
B C o Ee o T s T e R e D 0.6 B ~ s S LT T T 0.6
I~ I .;.}“1 |:-:-{ S -':‘ ""-"n"-m"-'- S ‘_\-'H.-__ L - -\'1'-'-:: i - I~ - - oa ] - e T S iy
o— s LTIl oA “Boeo '*--'q_ Tl -"1-:-‘.'-:-%{{ ‘:.l._;q. E-lb_:';iu o] s g i - - - _-l.- ':?:.-:f.__i.':li__l --\-J-J-l-
R R I e e B T st e | 80,5 - : : P A 0.5
o= R P A I S, S ™ ="k -y ™ - -:.E:_'.,_ = *'. = R "= .. o B e
- - = e . ' i F L T i T o e Y b - - .- - . gl . o - -
L= T - et e =T - - - TS - - - S oa” A =0 =
B = -:-;- PR -'_l- :._--_"' l?-H-l' - i---\.!‘ "_\;:'_'-.t_- --\.::":- .- B -.-- = - --. te e - = -.1- :-_
_2— ;-_::. -T_.l H _:'-_- _?-I_I -s?:-'::._-il o f:-s;'- W) _ﬁ.-r :H-:'\-?\_é'-'-\_'-'- 04 —2— . - - P -- I - F:.: - 04
~ iR P« S e L '\-ﬂ:‘-:-ﬁli'. e s Ok ~ - . L a o %
— -""".\'l-:_l' [ '_:_._J- - - Ll — - .. = - - B -
- '_"-\.:,.;'-:-- :-:' PO -:-:"'.EI__-_'.-';.!E g 0.3 - - - T % AR - 0.3
Al ey L gy - L] u ] =l & Al r L -
4_ e r';l?r q---‘-|:'wl-"'.\-'\'a-“-;'-.- I.-ﬁ- 4_ ':: :fl'\: - -h-:.'ﬁ_.'l- - )
= S Tam . - N " W " oSy o=
— :I— - -:.";-?q' e = S 02 — SE - " 1 ER . 02
| o ..‘..--\.;- mag LE Q=T | ) Lot = -
61— "'..:!';-:' - 61— L F
- TOLMe A 0.1 L ) 0.1
- --_'-.x--" - .
LI | -
| | | | | | | | | | | | | | | 6| | | | | | | | | | | | | | 0 | | | | | | | | | | | | | | | | | | | | | | | | | | | | | O

8 10 12 0 2 4 6 8 10 12
X (cm) X (cm)

140

140 1 — - = RD_P09_slot5.1_pu*

Y, cm

120 120 —— MC_P09_p+

100

100

80

60

40

20 20

III|III|III|III|III|III|III|
0]
o
III|III|III|III|III|III|III|I

o
III|III|III|III|III|III|III|I

0II|III|III|III|III|III|III| OII|III|III|III|III|III|III| '-._
0 2 4 6 8 10 12 —6 —4 —2 0 2 4 6 III|III|III|III|III|III|III|I

X (cm) Y (cm) 0 2 4 6 8 10 12
X, cm

20



DWO02X2

200
X (cm)
100 1 1 1 I200 1 1 1 I
X, cm

100
0

0
RD/MC ratio
1 1 1 I_'1 OOI 1 1 1

-200

-100

-200
Y (cm)

100

_ _ut
_}1+
1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1
50
21

1

MC_P09

— - = RD_P09_slot5.1
-50

X (cm)

200
-100

0

100

100 200
X (cm)

-100

0

-200

-100

-200

0



- DWO04Y1

=3 =3
3 3
> >
100 100
50 50
0 0
50 50
~100 ~100

120

140/~
100 120 :—
I 100{—
801 -
: 80 E_
of :
i 60
aoll i
| 4T .~ RD_P09_slot5.1_u*
20H B
: 2T vc_pog
0 L 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 O i 1 1 | 1 1 1 1 | 1 1 1 1 | 1 ) 1 1 1 | 1 1 1 1 | 1 1
-200 -100 0 100 200 -100 50 0 50 100
X (cm) Y (cm)

22



—_~
£
L=

> 40

HM04X1

140—
120
100
80
60
40
20
l.
ol v L b L
0 20 40 60 80 100 120
X (cm)
Problem was fixed.

200

— - = RD_P09_slot5.1_p*

—— MC_P09_p*
180
160 - -
140
120
1
100
|
80 :
|
60F -
|
_ J
L]J;lJ;Illlllllll
0 20

RD/MC ratio

Y, cm




HOO04Y2

1

e e
2100 <100
> 0.9 >
0.8
50 0.7 50
0.6
0 0.5 0
0.4
_50 0.3 50
0.2
-100 0.1 —-100
0
RD/MC ratio
F F £
180 O g $4100
n - ey
C 160
1601 C
1401 140 } 50
f20f 120 :
100 E 100 . 0
g0l 80H
60 QL 60 B 50
40 :L 40H — . - RD_P09_slot5.1_y*
20 :L | 20 2 — MC_PO9_y* ~100
O 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 0 __I | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 1 1 1 1 1 1 1 1 1
—200 ~150 ~100 50 0 -100 50 0 50 100 —200 ~150 -100 -50
X (cm) Y (cm)

The problem with the slab was fixed

24



RD STO03X1 MG

ST03X1 pseudo-efficiency (Z = 536 cm), mean = 0.8785 + 0.0036 ST03X1 pseudo-efficiency (Z = 536 cm), mean = 0.8694 + 0.0075
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ST03U1 pseudo-efficiency (Z = 544 cm), mean = 0.7776 + 0.0046 STO3U1 pseudo-efficiency (Z = 544 cm), mean = 0.7740 + 0.0093
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